- Avoweewerds:
:::::“.':E:xam:j:mzlés:am.:vt.'we'll'sendia:::::::::::::::
o colubimg avd gou ove - Mase Hian weleowme
::::::::+:o::'E:a::?::#«e::exam:M:o#ﬂfc:e:la:ow:s(::::::
........................... cetn MW Remw
:::::*:@msm:nma,/?%‘{?ﬁ.z,:%ﬂ;:”':::::”:“:::::-:
................... -..........‘_......u&a\‘,.})?-
o X Homewark 1 dae Thas,
L (ot ) oand A .m‘m!.[m.}.
11:,14%955523fiiiiiiiiiiiiiiiiiffff Poodag, 131 ™
A2 The Derivatve ot 4 Bk | Wednasdoys, 2-3
1% S8 Tl o T vHep Dask!




+
Y )= a2
© (/@)
i
0 (/)
e
® a=-177
® b--08
® ,_ 1)@

m = 118%9

QY y=nlx—a)+f(a)

flx) =2

(asf(a))
Fne
(b.s (b))

Ve

m- (x—a)+f(a)

1(0)f(a)
b-a

+

& L
QO ()= -axi2
Q@ (a/(a)

v

() a=-182
@ m=r(a)

m = 5.991875

QY y=mx-a)+f(a)

1450-Slides-2-02-¢

(af(a))

 Label £

a=0

2 .

o)

m=f"(a)
m = 060314718056

y=m(x—a)+f(a)

o

7(x)

(af"(a))

Label

1450-Slides-2-02-ex-1

S (x) =sin(x)
(a/(a))
™ Label F

a=0

ofs 2

10 0 @+

m=rla)

m =1

y=m(x—a)+f(a)

~

1(x)

(af"(a))

 Label F

(PN

(0,0)

(0,1)

7

05




4
3
2
1

-1
2
3




ZEAI&.”V‘?‘LNPZZD'Ff'.P&\ai'ﬁﬁX'.:fqﬁ o
o ~[inshororens RC of f6) aF x=q]
=¥y Cfprime b0
-Qlﬂh)--%)










-P'[ ad 20 méavs "H!Q -D'.mc"v*an IS Mcmxng
\;70"”9 ' ot e x-uke q

filad<co = Aecweogm\c] at Y=g

tlay=0 > guphis fob of x=q

e —

——

Ex: Lot £&) =sm6e).
Te £ '[W ) po;;-l:w " neycr/zve, oV C)?
=0
_Q( +\ ‘P[‘ﬂ'>
S LN £(10) 15 Aegative

|
o Mo - T







Ex:  Eshwele +he dovvatve of  L&)H= a"
=0 wth a a‘m'ola.

1450-Slides-2-02-ex-2-part2

+ & « F
V-7 2 -
@ (w/() o
WV Label: 15
G a=0
x—a)+f(a) ?
1,
e L)1) m=f"(a) (0,1)
m 0.69314718056
Q r-mlx—a)+r(a) o3
)
(af"(a)) ° i




Rebd: Ol o aquaon fv Hhe ougut
ve of F6O=2° &+ y=0. ‘ = 0.6

E;vmu\a ‘CW ’ﬁ«z ’TVQ wih X /\j\\ ‘J’Lmn/-
pPassss ‘HA\IU\@II He Fo'un"- (C, -
Y =m- (x-c) ~d (0, L))
= (0,
= 0673+ (x =) H o

@.69@ —éc]/w%m ot

TL. o x=0




5@:‘7% 1.2 - The denvaive ~er/wn
(Same idha o5 Secton AR, it move &/ei-,/)
Exc Bstwmate £ of x= -2.-1,0,1234,S.

u{(-—a

: \ x| {£60 L'<)

<] 2| O 5

/ B \ -\ 35 A
L of { | -o¥
2 \ \| 2S5 | -2Z5
/ : \ 4l / t| O | =TS
=2 =t 1 1 I\ 3 Xx 5/ 3| - -1
= el -5 | oF

j N 5| O 5




